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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Warning: col ['M_E'] missing
T T T T
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Warning: col ["M_E’] missing
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0.0 0.2 0.4 0.6 0.8 1.
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Warning: col ["M_E’] missing
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Warning: col ['M_E’'] missing
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Warning: col ['M_E'] missing
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Warning: col ["M_E’'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ["M_E’] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E’'] missing
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Warning: col ['M_E'] missing
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m=695, FVO0=0
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Warning: col ["M_E’'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
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Warning: col ["M_E’'] missing
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Warning: col ["M_E'] missing
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P5

BriE) | BRI (D) | EHME (EH/HK) (XX ERE

07:40 268 150.0 |Z=| {Ri&@07:40 Bz (GREEESE)
08:05 268 150.0 5| {Ri&e08:05 Hzh (RFEESR)
09:00 268 150.0 F BRi&@09:00 Ba1 (RAEREE)
09:35 268 150.0 5| {Ri%e09:35 Bz (FFAERSE)
10:05 268 150.0 Fl 1RRi&@10:05 Bzl (GRAERESE)
10:35 268 150.0 = RRi8010:35 Bz (REAEEE)
11:05 268 150.0 5 {Ri%e11:05 Bz (GRAERSE)
11:30 268 150.0 S {Ri%e11:30 B (GRAERSE)
11:55 268 150.0 E BRi&e11:55 Bzl (GRAERESE)
12:25 268 150.0 =l Rige12:25 Bz (REAEEREE)
12:50 268 150.0 F[ BRige12:50 Bz CGRAEEREESE)
13:15 268 150.0 =l RRige13:15 Bz (REAEREE)
13:40 268 150. 0 5| Ri%e13:40 B (GREERE)
14:15 268 150.0 (% =| 1Ri%e14:15 Bz (REFEBRSE)
15:20 268 150.0 (& =| 1Rige@15:20 Bzh (KREBERESE)
16:25 268 150.0 & =| 1Rige16:25 Bzh (RAEEE)
23t] 4288.0 (167%) 2400.0 32 3KEC: 2080.0, PH: 6.5

#HERECE (2293.0 vs 4055.0) i d 5
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ["M_E’] missing
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Warning: col ['M_E’] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=755, FVO0=0
.8 4
.6 1
.4
.2
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Warning: col ['M_E'] missing
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P5

BfiE) | GEBATK (RY) | EBE (EA/K) [ KK ERE

07:50 268 150.0 BH| {Ri%@07:50 B (RAEES)
08:15 268 150.0 (& =| 1BRiB@08:15 Bzh (KEEREE)
08:40 268 150.0 & =| 1Ri%@08:40 Bzh (kAIEREEE)
09:20 268 150.0 & =| 1Ri%@09:20 Bzh (KAEEEE)
09:50 268 150.0 (& =| 1BRi8@09:50 Bz (KAL)
10:15 268 150.0 (& =| 1BRige@10:15 Bzh (KREERESE)
10:40 268 150.0 & =| 1Ri%@10:40 Bzh (kAR
11:05 268 150.0 5 {Ri%e11:05 Bz (GRAERSE)
11:30 268 150.0 S {Ri%e11:30 B (GRAERSE)
11:55 268 150.0 E BRi&e11:55 Bzl (GRAERESE)
12:20 268 150.0 =l Rige@12:20 B3 (REAEEE)
12:45 268 150.0 F BRige12:45 Bz CGREERESE)
13:10 268 150.0 =l RRige13:10 Bz (REAEEE)
13:35 268 150.0 5| 1Ri%e13:35 B (REERER)
14:10 268 150.0 =l Rige14:10 B3 (RAERSE)
14:50 268 150.0 =l RiB0@14:50 Bz (REAEREE)
15:30 268 150. 0 Fl BRi%e15:30 Bz (GRAERESE)
16:10 268 150.0 sl BRiBe16:10 B (REAERESE)
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#HERECE (2320.0 vs 4465.0) 35
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P5_0, Day=45 (2025-05-19)

150 A

100 A

50

200 +

150 -

100 A

1294
111534

102 Warning: lcol [FVI',| "FVO’'] missing 21

— MW

maxM |

1
o
1

1.0

VI, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 2801 ,:3504 - 3000

882 2000

- 1000

=

- 32

M_W

- 31

30

0.8 A

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

0.0

7.0

6.5 mmm e e e e

6.0 -

400 -

300 -

200 -

100 A

TargetEC=2600. 0, | TargetSetEC=2080. 0 —>— ECB*10%
o ECC

TargetPH=6.5, TargetSetPH=6.5 —>—  PHB*10%
o PHC

Vo —————

- 4000
7

- 3000
- 2000

- 1000

408

il

&
1 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

2000

300 -

200 -

100 A

— — — ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
EXNEXSEZANS 5 5 5 i 5 5 G A B 5 G A B B B G B B B G

- 3000

- 2000

- 1000

408 3

p——& 4 4 4 4
—— o s FN —
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

2000

300 -

200 -

100 A

1.0

2|25 || W [H | BB | MM | (2725|256 | B5 | B | B | f5 [ | BE |5 | | BE | A5 [ B

I
ByWoFv1@D48 01:52: ET=1882 Fg=2700.0 Ro=749.0
| /\/

v

- 3000

- 2000

- 1000

0.8

0.6

0.4+

0.2~

0.0

1500 A

1000 ~

500 A

30 A

20 A

10 ~

100

80 A

60

40 -

—_—
[ ] | _obs
—@— PPFD obs

RHo _obs

o VPD

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=445, FV0=0 m=505, FV0=0 m=535, FV0=0

33.0 33.0 33.0
—— MW —— MW —— MW —— MW
32.5 1 32.5 1 32.5 -
32.0 32.0 32.0 1
31.5 1 31.5 1 31.5 1
O—0—0—0—0—0—0—0—0—0—0—0—0—0—0 O—0—0—0—0—0—0—0—0—0—0—0—0—0—0 O—0—0—0—0—0—0—0—0—0—0—0—0—0—0
31.0 1 31.0 31.0
30. 5 1 30.5 - 30. 5 1
30. 0 1 30.0 1 30.0 1
T T T T T T T T T T T T
400 600 800 1000 445 450 455 505 510 515 555 560 565
m=585,m FV0=0 m=615,m FV0=0 m=640,m FV0=0 m=675,m FV0=0
33.0 33.0
—— MW —— MW —— MW —— MW
32.5 1 32.5 1 32.0 1
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OO~ — === 00—~ 0—C—0—0—0 0O—0—0—0—0—0—0—0—0—0—0—0—0—0—0 O—0—0—0—0—0—0—0—0—0—0—0—0—0—0
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T T T T T T T T T T T T
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—— MW —o— MW —— MW —— MW
33.0 1 33.0 1 33.0 1
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32.0 1 32.0 1 32.0 1
0-0-0-0-0-0-0-0-0-0-0-0-0-0-9 o 0-0-0000000006000 - 0-0-000000000000 o 0-0-0000000006000
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Warning: col ["M_E’] missing Warning: col ["M_E’] missing
0 T T T T 00 T T T T
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8 0. 8 A
6 0.6
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Warning: col ["M_E’] missing Warning: col ["M_E’'] missing
.0 T T T T 0-0 T T T T
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0 1.0
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2 0.2
Warning: col ['M_E’'] missing Warning: col ['M_E'] missing
.0 T T T T 0-0 T T T T
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Warning: col ['M_E'] missing
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Warning: col ['M_E’'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E’] missing
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Warning: col ["M_E’'] missing
0.0 0.2 0.4 0.6 0.8 1.
m=840, FV0=0
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Warning: col ['M_E'] missing
0.0 0.2 0.4 0.6 0.8 1.
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Warning: col ['M_E'] missing
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